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SO201: SSAASS Surveys and Statistics (Richard Lampard).

Handout for the Week 9 Lecture on Logistic Regression and Log-linear Models

Output from a logistic regression model (including an age/living with a partner interaction)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	4.841
	.753
	41.356
	1
	.000
	126.540

	
	age
	.097
	.017
	33.542
	1
	.000
	1.101

	
	hiclass
	
	
	21.816
	6
	.001
	

	
	hiclass(1)
	.106
	.352
	.091
	1
	.763
	1.112

	
	hiclass(2)
	.094
	.328
	.082
	1
	.774
	1.098

	
	hiclass(3)
	.036
	.583
	.004
	1
	.950
	1.037

	
	hiclass(4)
	-.455
	.407
	1.249
	1
	.264
	.634

	
	hiclass(5)
	-.258
	.337
	.585
	1
	.444
	.773

	
	hiclass(6)
	-1.224
	.371
	10.892
	1
	.001
	.294

	
	hhinc
	
	
	44.402
	17
	.000
	

	
	hhinc(1)
	-1.751
	1.426
	1.508
	1
	.219
	.174

	
	hhinc(2)
	-.864
	1.187
	.530
	1
	.466
	.421

	
	hhinc(3)
	-2.362
	1.096
	4.640
	1
	.031
	.094

	
	hhinc(4)
	-1.179
	.960
	1.509
	1
	.219
	.308

	
	hhinc(5)
	-.272
	.975
	.078
	1
	.780
	.762

	
	hhinc(6)
	-1.078
	.939
	1.317
	1
	.251
	.340

	
	hhinc(7)
	-.559
	.880
	.403
	1
	.525
	.572

	
	hhinc(8)
	-.481
	.890
	.292
	1
	.589
	.618

	
	hhinc(9)
	-.139
	.879
	.025
	1
	.875
	.871

	
	hhinc(10)
	-.175
	.883
	.039
	1
	.843
	.839

	
	hhinc(11)
	.526
	.911
	.333
	1
	.564
	1.692

	
	hhinc(12)
	.786
	.913
	.740
	1
	.390
	2.194

	
	hhinc(13)
	.740
	.881
	.706
	1
	.401
	2.096

	
	hhinc(14)
	.041
	.903
	.002
	1
	.964
	1.042

	
	hhinc(15)
	.222
	.984
	.051
	1
	.821
	1.249

	
	hhinc(16)
	.368
	1.082
	.115
	1
	.734
	1.444

	
	hhinc(17)
	.918
	1.047
	.769
	1
	.381
	2.504

	
	age by partner(1)
	-.082
	.019
	18.056
	1
	.000
	.921

	
	Constant
	-4.016
	1.102
	13.274
	1
	.000
	.018

	a. Variable(s) entered on step 1: age * partner .


	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-4.841
	.753
	41.356
	1
	.000
	.008

	
	age
	.015
	.010
	2.148
	1
	.143
	1.015

	
	hiclass
	
	
	21.816
	6
	.001
	

	
	hiclass(1)
	.106
	.352
	.091
	1
	.763
	1.112

	
	hiclass(2)
	.094
	.328
	.082
	1
	.774
	1.098

	
	hiclass(3)
	.036
	.583
	.004
	1
	.950
	1.037

	
	hiclass(4)
	-.455
	.407
	1.249
	1
	.264
	.634

	
	hiclass(5)
	-.258
	.337
	.585
	1
	.444
	.773

	
	hiclass(6)
	-1.224
	.371
	10.892
	1
	.001
	.294

	
	hhinc
	
	
	44.402
	17
	.000
	

	
	hhinc(1)
	-1.751
	1.426
	1.508
	1
	.219
	.174

	
	hhinc(2)
	-.864
	1.187
	.530
	1
	.466
	.421

	
	hhinc(3)
	-2.362
	1.096
	4.640
	1
	.031
	.094

	
	hhinc(4)
	-1.179
	.960
	1.509
	1
	.219
	.308

	
	hhinc(5)
	-.272
	.975
	.078
	1
	.780
	.762

	
	hhinc(6)
	-1.078
	.939
	1.317
	1
	.251
	.340

	
	hhinc(7)
	-.559
	.880
	.403
	1
	.525
	.572

	
	hhinc(8)
	-.481
	.890
	.292
	1
	.589
	.618

	
	hhinc(9)
	-.139
	.879
	.025
	1
	.875
	.871

	
	hhinc(10)
	-.175
	.883
	.039
	1
	.843
	.839

	
	hhinc(11)
	.526
	.911
	.333
	1
	.564
	1.692

	
	hhinc(12)
	.786
	.913
	.740
	1
	.390
	2.194

	
	hhinc(13)
	.740
	.881
	.706
	1
	.401
	2.096

	
	hhinc(14)
	.041
	.903
	.002
	1
	.964
	1.042

	
	hhinc(15)
	.222
	.984
	.051
	1
	.821
	1.249

	
	hhinc(16)
	.368
	1.082
	.115
	1
	.734
	1.444

	
	hhinc(17)
	.918
	1.047
	.769
	1
	.381
	2.504

	
	age by partner(1)
	.082
	.019
	18.056
	1
	.000
	1.085

	
	Constant
	.824
	.969
	.724
	1
	.395
	2.281

	a. Variable(s) entered on step 1: age * partner .


Output from a logistic regression model (not including income)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-4.734
	.669
	50.112
	1
	.000
	.009

	
	age
	.017
	.009
	3.428
	1
	.064
	1.017

	
	hiclass
	
	
	50.897
	6
	.000
	

	
	hiclass(1)
	-.046
	.318
	.021
	1
	.884
	.955

	
	hiclass(2)
	-.154
	.292
	.278
	1
	.598
	.857

	
	hiclass(3)
	.045
	.493
	.008
	1
	.928
	1.046

	
	hiclass(4)
	-.812
	.365
	4.947
	1
	.026
	.444

	
	hiclass(5)
	-.700
	.295
	5.624
	1
	.018
	.496

	
	hiclass(6)
	-1.726
	.314
	30.167
	1
	.000
	.178

	
	age by partner(1)
	.061
	.017
	13.145
	1
	.000
	1.062

	
	Constant
	1.152
	.431
	7.158
	1
	.007
	3.166

	a. Variable(s) entered on step 1: age * partner .


Output from a logistic regression model (using a different reference category for income)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-4.841
	.753
	41.356
	1
	.000
	.008

	
	age
	.015
	.010
	2.148
	1
	.143
	1.015

	
	hiclass
	
	
	21.816
	6
	.001
	

	
	hiclass(1)
	.106
	.352
	.091
	1
	.763
	1.112

	
	hiclass(2)
	.094
	.328
	.082
	1
	.774
	1.098

	
	hiclass(3)
	.036
	.583
	.004
	1
	.950
	1.037

	
	hiclass(4)
	-.455
	.407
	1.249
	1
	.264
	.634

	
	hiclass(5)
	-.258
	.337
	.585
	1
	.444
	.773

	
	hiclass(6)
	-1.224
	.371
	10.892
	1
	.001
	.294

	
	hhinc
	
	
	44.402
	17
	.000
	

	
	hhinc(1)
	.139
	.879
	.025
	1
	.875
	1.149

	
	hhinc(2)
	-1.612
	1.181
	1.864
	1
	.172
	.199

	
	hhinc(3)
	-.726
	.875
	.689
	1
	.407
	.484

	
	hhinc(4)
	-2.223
	.750
	8.792
	1
	.003
	.108

	
	hhinc(5)
	-1.040
	.545
	3.646
	1
	.056
	.353

	
	hhinc(6)
	-.134
	.563
	.057
	1
	.812
	.875

	
	hhinc(7)
	-.939
	.502
	3.500
	1
	.061
	.391

	
	hhinc(8)
	-.420
	.382
	1.213
	1
	.271
	.657

	
	hhinc(9)
	-.342
	.409
	.700
	1
	.403
	.710

	
	hhinc(10)
	-.037
	.389
	.009
	1
	.925
	.964

	
	hhinc(11)
	.665
	.453
	2.147
	1
	.143
	1.944

	
	hhinc(12)
	.924
	.457
	4.092
	1
	.043
	2.521

	
	hhinc(13)
	.879
	.382
	5.291
	1
	.021
	2.408

	
	hhinc(14)
	.180
	.433
	.172
	1
	.678
	1.197

	
	hhinc(15)
	.361
	.581
	.385
	1
	.535
	1.434

	
	hhinc(16)
	.506
	.736
	.473
	1
	.492
	1.659

	
	hhinc(17)
	1.057
	.681
	2.411
	1
	.121
	2.877

	
	age by partner(1)
	.082
	.019
	18.056
	1
	.000
	1.085

	
	Constant
	.686
	.569
	1.453
	1
	.228
	1.986

	a. Variable(s) entered on step 1: age * partner .


Output from a logistic regression model (using a collapsed income variable)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-4.717
	.715
	43.526
	1
	.000
	.009

	
	age
	.013
	.010
	1.789
	1
	.181
	1.013

	
	hiclass
	
	
	22.327
	6
	.001
	

	
	hiclass(1)
	.096
	.345
	.077
	1
	.782
	1.100

	
	hiclass(2)
	.103
	.320
	.104
	1
	.747
	1.109

	
	hiclass(3)
	.064
	.580
	.012
	1
	.912
	1.066

	
	hiclass(4)
	-.443
	.398
	1.244
	1
	.265
	.642

	
	hiclass(5)
	-.211
	.328
	.412
	1
	.521
	.810

	
	hiclass(6)
	-1.203
	.360
	11.182
	1
	.001
	.300

	
	hhinc2
	
	
	34.468
	3
	.000
	

	
	hhinc2(1)
	.584
	.420
	1.927
	1
	.165
	1.792

	
	hhinc2(2)
	1.050
	.419
	6.281
	1
	.012
	2.857

	
	hhinc2(3)
	1.838
	.423
	18.840
	1
	.000
	6.281

	
	age by partner(1)
	.078
	.018
	17.976
	1
	.000
	1.081

	
	Constant
	-.409
	.629
	.424
	1
	.515
	.664

	a. Variable(s) entered on step 1: age * partner .


Output from a logistic regression model (using collapsed age, class and income variables)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-2.680
	.364
	54.231
	1
	.000
	.069

	
	agecat
	
	
	2.816
	3
	.421
	

	
	agecat(1)
	.353
	.290
	1.477
	1
	.224
	1.423

	
	agecat(2)
	.400
	.308
	1.686
	1
	.194
	1.492

	
	agecat(3)
	.464
	.307
	2.296
	1
	.130
	1.591

	
	hiclass2
	
	
	22.525
	2
	.000
	

	
	hiclass2(1)
	-.372
	.207
	3.213
	1
	.073
	.690

	
	hiclass2(2)
	-1.296
	.274
	22.400
	1
	.000
	.274

	
	hhinc2
	
	
	30.968
	3
	.000
	

	
	hhinc2(1)
	.585
	.421
	1.933
	1
	.164
	1.796

	
	hhinc2(2)
	.986
	.419
	5.530
	1
	.019
	2.680

	
	hhinc2(3)
	1.739
	.420
	17.145
	1
	.000
	5.693

	
	agecat * partner
	
	
	13.561
	3
	.004
	

	
	agecat(1) by partner(1)
	.656
	.547
	1.436
	1
	.231
	1.927

	
	agecat(2) by partner(1)
	1.076
	.617
	3.047
	1
	.081
	2.934

	
	agecat(3) by partner(1)
	2.082
	.574
	13.153
	1
	.000
	8.023

	
	Constant
	-.060
	.454
	.018
	1
	.894
	.941

	a. Variable(s) entered on step 1: agecat * partner .


Selecting a log-linear model using backwards elimination (of non-significant relationships)

	Step Summary

	Stepa
	Effects
	Chi-Squarec
	df
	Sig.
	Number of Iterations

	0
	Generating Classb
	ten2*partner*agecat*hiclass2*hhinc2
	.000
	0
	.
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hiclass2*hhinc2
	9.493
	18
	.947
	6

	1
	Generating Classb
	ten2*partner*agecat*hiclass2, ten2*partner*agecat*hhinc2, ten2*partner*hiclass2*hhinc2, ten2*agecat*hiclass2*hhinc2, partner*agecat*hiclass2*hhinc2
	9.493
	18
	.947
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hiclass2
	4.133
	6
	.659
	6

	
	
	2
	ten2*partner*agecat*hhinc2
	11.429
	9
	.247
	8

	
	
	3
	ten2*partner*hiclass2*hhinc2
	8.352
	6
	.213
	7

	
	
	4
	ten2*agecat*hiclass2*hhinc2
	22.403
	18
	.215
	5

	
	
	5
	partner*agecat*hiclass2*hhinc2
	19.058
	18
	.388
	6

	2
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*partner*hiclass2*hhinc2, ten2*agecat*hiclass2*hhinc2, partner*agecat*hiclass2*hhinc2
	13.626
	24
	.955
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	11.901
	9
	.219
	8

	
	
	2
	ten2*partner*hiclass2*hhinc2
	9.757
	6
	.135
	7

	
	
	3
	ten2*agecat*hiclass2*hhinc2
	22.200
	18
	.223
	6

	
	
	4
	partner*agecat*hiclass2*hhinc2
	24.654
	18
	.135
	5

	3
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*partner*hiclass2*hhinc2, partner*agecat*hiclass2*hhinc2, ten2*agecat*hiclass2
	35.826
	42
	.738
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	11.556
	9
	.240
	7

	
	
	2
	ten2*partner*hiclass2*hhinc2
	7.409
	6
	.285
	6

	
	
	3
	partner*agecat*hiclass2*hhinc2
	21.359
	18
	.262
	6

	
	
	4
	ten2*agecat*hiclass2
	5.475
	6
	.485
	5

	4
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*partner*hiclass2*hhinc2, partner*agecat*hiclass2*hhinc2
	41.300
	48
	.742
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	13.390
	9
	.146
	5

	
	
	2
	ten2*partner*hiclass2*hhinc2
	6.605
	6
	.359
	5

	
	
	3
	partner*agecat*hiclass2*hhinc2
	21.807
	18
	.241
	4

	5
	Generating Classb
	ten2*partner*agecat*hhinc2, partner*agecat*hiclass2*hhinc2, ten2*partner*hiclass2, ten2*hiclass2*hhinc2
	47.905
	54
	.707
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	15.206
	9
	.085
	5

	
	
	2
	partner*agecat*hiclass2*hhinc2
	23.351
	18
	.177
	5

	
	
	3
	ten2*partner*hiclass2
	.000
	2
	1.000
	6

	6
	Generating Classb
	ten2*partner*agecat*hhinc2, partner*agecat*hiclass2*hhinc2, ten2*hiclass2*hhinc2
	47.887
	56
	.771
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	15.500
	9
	.078
	5

	
	
	2
	partner*agecat*hiclass2*hhinc2
	23.419
	18
	.175
	5

	
	
	3
	ten2*hiclass2*hhinc2
	11.804
	6
	.066
	6

	7
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*hiclass2*hhinc2, partner*agecat*hiclass2, partner*hiclass2*hhinc2, agecat*hiclass2*hhinc2
	71.306
	74
	.567
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	12.730
	9
	.175
	7

	
	
	2
	ten2*hiclass2*hhinc2
	11.455
	6
	.075
	6

	
	
	3
	partner*agecat*hiclass2
	1.461
	6
	.962
	6

	
	
	4
	partner*hiclass2*hhinc2
	5.853
	6
	.440
	5

	
	
	5
	agecat*hiclass2*hhinc2
	18.700
	18
	.411
	5

	8
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*hiclass2*hhinc2, partner*hiclass2*hhinc2, agecat*hiclass2*hhinc2
	72.767
	80
	.704
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	12.253
	9
	.199
	6

	
	
	2
	ten2*hiclass2*hhinc2
	11.111
	6
	.085
	6

	
	
	3
	partner*hiclass2*hhinc2
	6.101
	6
	.412
	6

	
	
	4
	agecat*hiclass2*hhinc2
	18.392
	18
	.430
	5

	9
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*hiclass2*hhinc2, partner*hiclass2*hhinc2, agecat*hiclass2
	91.159
	98
	.675
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	12.397
	9
	.192
	6

	
	
	2
	ten2*hiclass2*hhinc2
	8.048
	6
	.235
	6

	
	
	3
	partner*hiclass2*hhinc2
	6.634
	6
	.356
	5

	
	
	4
	agecat*hiclass2
	14.812
	6
	.022
	5

	10
	Generating Classb
	ten2*partner*agecat*hhinc2, ten2*hiclass2*hhinc2, agecat*hiclass2, partner*hiclass2
	97.793
	104
	.653
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	12.660
	9
	.179
	7

	
	
	2
	ten2*hiclass2*hhinc2
	8.897
	6
	.179
	6

	
	
	3
	agecat*hiclass2
	14.705
	6
	.023
	5

	
	
	4
	partner*hiclass2
	8.779
	2
	.012
	4

	11
	Generating Classb
	ten2*partner*agecat*hhinc2, agecat*hiclass2, partner*hiclass2, ten2*hiclass2, hiclass2*hhinc2
	106.689
	110
	.572
	

	
	Deleted Effect
	1
	ten2*partner*agecat*hhinc2
	12.517
	9
	.186
	6

	
	
	2
	agecat*hiclass2
	15.044
	6
	.020
	5

	
	
	3
	partner*hiclass2
	9.038
	2
	.011
	5

	
	
	4
	ten2*hiclass2
	20.929
	2
	.000
	6

	
	
	5
	hiclass2*hhinc2
	48.909
	6
	.000
	6

	12
	Generating Classb
	agecat*hiclass2, partner*hiclass2, ten2*hiclass2, hiclass2*hhinc2, ten2*partner*agecat, ten2*partner*hhinc2, ten2*agecat*hhinc2, partner*agecat*hhinc2
	119.206
	119
	.477
	

	
	Deleted Effect
	1
	agecat*hiclass2
	15.069
	6
	.020
	6

	
	
	2
	partner*hiclass2
	9.063
	2
	.011
	6

	
	
	3
	ten2*hiclass2
	20.954
	2
	.000
	6

	
	
	4
	hiclass2*hhinc2
	48.934
	6
	.000
	6

	
	
	5
	ten2*partner*agecat
	5.132
	3
	.162
	7

	
	
	6
	ten2*partner*hhinc2
	22.794
	3
	.000
	5

	
	
	7
	ten2*agecat*hhinc2
	10.311
	9
	.326
	6

	
	
	8
	partner*agecat*hhinc2
	20.024
	9
	.018
	6

	13
	Generating Classb
	agecat*hiclass2, partner*hiclass2, ten2*hiclass2, hiclass2*hhinc2, ten2*partner*agecat, ten2*partner*hhinc2, partner*agecat*hhinc2
	129.518
	128
	.446
	

	
	Deleted Effect
	1
	agecat*hiclass2
	15.564
	6
	.016
	5

	
	
	2
	partner*hiclass2
	9.210
	2
	.010
	5

	
	
	3
	ten2*hiclass2
	21.449
	2
	.000
	6

	
	
	4
	hiclass2*hhinc2
	49.430
	6
	.000
	5

	
	
	5
	ten2*partner*agecat
	5.829
	3
	.120
	6

	
	
	6
	ten2*partner*hhinc2
	24.710
	3
	.000
	7

	
	
	7
	partner*agecat*hhinc2
	19.704
	9
	.020
	6

	14
	Generating Classb
	agecat*hiclass2, partner*hiclass2, ten2*hiclass2, hiclass2*hhinc2, ten2*partner*hhinc2, partner*agecat*hhinc2, ten2*agecat
	135.346
	131
	.380
	

	
	Deleted Effect
	1
	agecat*hiclass2
	15.240
	6
	.018
	5

	
	
	2
	partner*hiclass2
	8.786
	2
	.012
	6

	
	
	3
	ten2*hiclass2
	21.125
	2
	.000
	6

	
	
	4
	hiclass2*hhinc2
	49.535
	6
	.000
	5

	
	
	5
	ten2*partner*hhinc2
	32.788
	3
	.000
	7

	
	
	6
	partner*agecat*hhinc2
	17.988
	9
	.035
	6

	
	
	7
	ten2*agecat
	11.753
	3
	.008
	6

	15
	Generating Classb
	agecat*hiclass2, partner*hiclass2, ten2*hiclass2, hiclass2*hhinc2, ten2*partner*hhinc2, partner*agecat*hhinc2, ten2*agecat
	135.346
	131
	.380
	

	a. At each step, the effect with the largest significance level for the Likelihood Ratio Change is deleted, provided the significance level is larger than .050.

	b. Statistics are displayed for the best model at each step after step 0.

	c. For 'Deleted Effect', this is the change in the Chi-Square after the effect is deleted from the model.


Output from a logistic regression model (including an interaction between the partner and income effects)
	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	partner(1)
	-2.389
	.859
	7.727
	1
	.005
	.092

	
	agecat
	
	
	2.687
	3
	.443
	

	
	agecat(1)
	.302
	.300
	1.012
	1
	.314
	1.353

	
	agecat(2)
	.314
	.318
	.976
	1
	.323
	1.369

	
	agecat(3)
	.509
	.315
	2.608
	1
	.106
	1.664

	
	hiclass2
	
	
	19.907
	2
	.000
	

	
	hiclass2(1)
	-.319
	.211
	2.282
	1
	.131
	.727

	
	hiclass2(2)
	-1.230
	.276
	19.889
	1
	.000
	.292

	
	hhinc2
	
	
	43.871
	3
	.000
	

	
	hhinc2(1)
	.158
	.558
	.081
	1
	.776
	1.172

	
	hhinc2(2)
	.740
	.545
	1.848
	1
	.174
	2.096

	
	hhinc2(3)
	1.947
	.549
	12.583
	1
	.000
	7.004

	
	agecat * partner
	
	
	5.776
	3
	.123
	

	
	agecat(1) by partner(1)
	.266
	.548
	.235
	1
	.628
	1.304

	
	agecat(2) by partner(1)
	.680
	.610
	1.245
	1
	.264
	1.975

	
	agecat(3) by partner(1)
	1.390
	.603
	5.303
	1
	.021
	4.013

	
	hhinc2 * partner
	
	
	21.388
	3
	.000
	

	
	hhinc2(1) by partner(1)
	.957
	.841
	1.297
	1
	.255
	2.604

	
	hhinc2(2) by partner(1)
	.664
	.855
	.603
	1
	.438
	1.942

	
	hhinc2(3) by partner(1)
	-1.470
	.894
	2.703
	1
	.100
	.230

	
	Constant
	.038
	.567
	.005
	1
	.946
	1.039

	a. Variable(s) entered on step 1: hhinc2 * partner .


Cross-tabulation of lives with partner by income by tenure (to allow the interaction effect to be interpreted more easily)

	

	Respondent lives with spouse/cohabitee
	ten2
	Total

	
	.00
	1.00
	

	No
	hhinc2
	1.00
	Count
	23
	6
	29

	
	
	
	% within hhinc2
	79.3%
	20.7%
	100.0%

	
	
	2.00
	Count
	52
	21
	73

	
	
	
	% within hhinc2
	71.2%
	28.8%
	100.0%

	
	
	3.00
	Count
	34
	18
	52

	
	
	
	% within hhinc2
	65.4%
	34.6%
	100.0%

	
	
	4.00
	Count
	56
	9
	65

	
	
	
	% within hhinc2
	86.2%
	13.8%
	100.0%

	
	Total
	Count
	165
	54
	219

	
	
	% within hhinc2
	75.3%
	24.7%
	100.0%

	Yes
	hhinc2
	1.00
	Count
	8
	8
	16

	
	
	
	% within hhinc2
	50.0%
	50.0%
	100.0%

	
	
	2.00
	Count
	43
	51
	94

	
	
	
	% within hhinc2
	45.7%
	54.3%
	100.0%

	
	
	3.00
	Count
	50
	102
	152

	
	
	
	% within hhinc2
	32.9%
	67.1%
	100.0%

	
	
	4.00
	Count
	39
	282
	321

	
	
	
	% within hhinc2
	12.1%
	87.9%
	100.0%

	
	Total
	Count
	140
	443
	583

	
	
	% within hhinc2
	24.0%
	76.0%
	100.0%

	Total
	hhinc2
	1.00
	Count
	31
	14
	45

	
	
	
	% within hhinc2
	68.9%
	31.1%
	100.0%

	
	
	2.00
	Count
	95
	72
	167

	
	
	
	% within hhinc2
	56.9%
	43.1%
	100.0%

	
	
	3.00
	Count
	84
	120
	204

	
	
	
	% within hhinc2
	41.2%
	58.8%
	100.0%

	
	
	4.00
	Count
	95
	291
	386

	
	
	
	% within hhinc2
	24.6%
	75.4%
	100.0%

	
	Total
	Count
	305
	497
	802

	
	
	% within hhinc2
	38.0%
	62.0%
	100.0%


	Chi-Square Tests

	Respondent lives with spouse/cohabitee
	Value
	df
	Asymp. Sig. (2-sided)

	No
	Pearson Chi-Square
	7.775b
	3
	.051

	
	Likelihood Ratio
	8.100
	3
	.044

	
	Linear-by-Linear Association
	1.366
	1
	.242

	
	N of Valid Cases
	219
	
	

	Yes
	Pearson Chi-Square
	61.581c
	3
	.000

	
	Likelihood Ratio
	60.898
	3
	.000

	
	Linear-by-Linear Association
	59.047
	1
	.000

	
	N of Valid Cases
	583
	
	

	Total
	Pearson Chi-Square
	73.727a
	3
	.000

	
	Likelihood Ratio
	74.048
	3
	.000

	
	Linear-by-Linear Association
	73.388
	1
	.000

	
	N of Valid Cases
	802
	
	

	a. 0 cells (0.0%) have expected count less than 5. The minimum expected count is 17.11.

	b. 0 cells (0.0%) have expected count less than 5. The minimum expected count is 7.15.

	c. 1 cells (12.5%) have expected count less than 5. The minimum expected count is 3.84.

	Symmetric Measures
Respondent lives with spouse/cohabitee

Value

Approx. Sig.

No

Nominal by Nominal

Phi

.188

.051

Cramer's V

.188

.051

N of Valid Cases

219

Yes

Nominal by Nominal

Phi

.325

.000

Cramer's V

.325

.000

N of Valid Cases

583

Total

Nominal by Nominal

Phi

.303

.000

Cramer's V

.303

.000

N of Valid Cases

802
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